il

® 40 50 65 75

BiEE

=@1=70tE

5
i

[F

IITIWARFIIT

-RE RFHE(TL—R) -ERfEAG
TXL
z A EE
17
§
NP
- AR |
I
LT-75EL,M12X% 35 b~ RE
= (=
9 é; ? S TE N
RH N BN UR HERIRROERAA-TTT,
S| M| & | & | 8| d Y | o
& & B W HinE & BftE Ul EvF- L RE popv) " v HEEFE FFRfE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R(mm) [daN (kgf) ]
LT-40R,M12X 14 M12 1.25 19
LT-40R,UNF1/2%X 14 40 17 59 UNF1/2 20 21 21 41 25(25.5)
LT-40R,W3/8% 14 W3/8 16 17
LT-50R,M12X 14 M12 1.25 14 19
LT-50R,UNF1/2%x 14 50 20 68 UNF1/2 20 21 22 47
LT-50R,W3/8x 14 W3/8 16 17
LT-65RH,M12Xx 14 1.25 30(30.6)
M12 19
LT-65RH,M12x 35 1.75 35
65 85 23 56
LT-65RH,UNF1/2X 14 UNF1/2 20 21
LT-65RH,W3/8 %X 14 W3/8 16 14 17
21
LT-75RH,M12x 14 1.25
M12 19
LT-75RH,M12x 35 1.75 35 40(40.8)
75 95 27 65
LT-75RH,UNF1/2X 14 UNF1/2 20 21
AT L 14
LT-75RH,W3/8%x 14 = @Wda W3/8 16 17 35(35.7)
LT-40N,M12X 14 M12 1.25 19
LT-40N,UNF1/2X14 40 18 59 UNF1/2 20 21 21 42
LT-40N,W3/8x 14 W3/8 16 17
30(30.6)
LT-50N,M12X 14 M12 1.25 14 19
LT-50N,UNF1/2X14 50 68 UNF1/2 20 21 22 47
LT-50N,W3/8x 14 W3/8 16 17
LT-65N,M12X 14 1.25
M12 19
LT-65N,M12x 35 1.75 35 40(40.8)
65 85 23 56
LT-65N,UNF1/2%x14 21 UNF1/2 20 21
LT-65N,W3/8x 14 W3/8 16 14 17 35(35.7)
LT-75N,M12X 14 1.25
M12 19
LT-75N,M12X 35 1.75 35 50(51.0)
75 95 27 65
LT-75N,UNF1/2X14 UNF1/2 20 21
AANF O 14
LT-75N,W3/8x 14 ® W o W3/8 16 17 35(35.7)
BETE 175 2I8F

2—IAZ/¥F(19mm. 21mm)

073



O T 4 & &| & @ v | @
& & B W HinE o BftE fal EvF- R pogv) "o HEEFE BRGES
L D (mm) W (mm) H(mm) T L N (mm) M (mm) E(mm) R(mm) [daN (kgf) ]
s
é LT-40BN,W3/8%X 14 wa3/8 16 17
® LT-40BN,M12X 14 40 18 59 M12 1.25 19 21 42
LT-40BN,UNF1/2X 14 UNF1/2 20 21
30(30.6)
LT-50BN,W3/8 X 14 W3/8 16 17
14
LT-50BN,M12x 14 50 68 M12 1.25 19 22 47
LT-50BN,UNF1/2X 14 UNF1/2 20 21
LT-65BN,W3/8 %X 14 W3/8 16 17 35(35.7)
LT-65BN,M12X 14 1.25
65 85 M12 19 23 56
LT-65BN,M12x 35 21 1.75 35 40(40.8)
LT-65BN,UNF1/2%x 14 UNF1/2 20 14 21
LT-75BN,M12x 35 M12 1.75 35 19 50(51.0)
LT-75BN,W3/8%x 14 W3/8 16 17 35(35.7)
75 95 27 65
LT-75BN,M12Xx 14 M12 1.25 14 19
AAVF A (B) 50(51.0)
LT-75BN,UNF1/2X 14 L (=P E ] UNF1/2 20 21
LT-50RE,M12X 14 M12 1.25 19
LT-50RE,UNF1/2X 14 50 20 68 UNF1/2 20 21 22 47
14
LT-50RE,W3/8X% 14 W3/8 16 17
LT-65RHE,M12X 14 1.25 30(30.6)
M12 19
LT-65RHE,M12X 35 1.75 35
65 85 23 56
LT-65RHE,UNF1/2X 14 UNF1/2 20 21
LT-65RHE,W3/8X% 14 wa3/8 16 14 17
21
LT-75RHE,M12X 14 1.25
M12 19
LT-75RHE,M12X 35 1.75 35 40(40.8)
75 95 27 65
LT-75RHE,UNF1/2X 14 UNF1/2 20 21
RAVEED L 14
LT-75RHE,W3/8X% 14 = WHEIL W3/8 16 17 35(35.7)
LT-65EL,M12X 14 1.25 14
M12 19
LT-65EL,M12Xx 35 1.75 35
65 85 23 56
LT-65EL,UNF1/2X 14 UNF1/2 20 21
LT-65EL,W3/8X 14 Ww3/8 16 14 17
21 30(30.6)
LT-75EL,M12Xx 14 1.25
M12 19
LT-75EL,M12X 35 1.75 35
75 95 27 65
LT-75EL,UNF1/2X 14 UNF1/2 20 21
AAILPP 14
LT-75EL,W3/8 %X 14 F WISAN— wa3/8 16 17
LT-65UR,M12X 14 1.25 14
M12 19
LT-65UR,M12X 35 1.75 35 40(40.8)
65 85 23 56
LT-65UR,UNF1/2X 14 UNF1/2 20 21
LT-65UR,W3/8 %X 14 W3/8 16 14 17 35(35.7)
21
LT-75UR,M12X 14 1.25
M12 19
LT-75UR,M12Xx 35 1.75 35 45(45.9)
75 95 27 65
LT-75UR,UNF1/2X 14 UNF1/2 20 21
AAVFAO> 14
LT-75UR,W3/8 % 14 E wLe w3/8 16 17 35(385.7)

074






